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uksV & iz'u i= rhu [k.Mksa esa foHkDr gS A lHkh rhu [k.Mksa ds iz'u funsZ'kkuqlkj gy

dhft;s A vadksa dk foHkktu izR;sd [k.M esa fn;k x;k gS A

Note: Question paper is divided into three sections. Attempt question of all three section
as per direction. Distribution of Marks is given in each section.

PC-120 P.T.O.

[k.M & ^v*  Section - 'A'

izR;sd bdkbZ ls nks iz'u gy dhft;s A

Attempt two questions from each unit.

vfry?kqmRrjh; iz'u] 'kCn lhek 30 'kCnksa esaA (10x2=20)

Very short answer question (word limit 30 words.)

bdkbZ & I  / Unit -I

1- ;fn 7 3 44 0x y    rFkk 3y   rks x  dk eku D;k gksxk \

If 7 3 44 0x y    and 3y   then what will be value of x  ?

2- 27 243x   dks y?kqx.kd ds :i esa fyf[k,A

Write the 27 243x   in logarithm form.

3- log ?a
m
n

   
 
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bdkbZ & II  / Unit -II

4- bdkbZ vkO;wg dks le>kb;sA

Explain identity matrix.

5-
5 10 4 9

15 20 11 26
A B   
    
   

 rks A B Kkr dhft;sA

5 10 4 9
15 20 11 26

A B   
    
   

 find A B .

6- 25, 0.524, 3.425, 0.0382, 0.00283 dk vkSlr Kkr dhft;sA

Find out average of 25, 0.524, 3.425, 0.0382, 0.00283.

bdkbZ & III  / Unit -III

7- 8 ls.VhehVj rFkk 3 ehVj dk D;k vuqikr gS \

What is the ratio of 8 cm to 3 meter ?

8- fdlh lekuqikr ds vafre rhu in 16] 24] 32 gSA igyk in Kkr dhft;sA

The lost three terms of a proportion are 16, 24, 32 respectively. Find the first term.

9- ,d la[;k dk 12%, 420 gS rks og la[;k Kkr dhft;sA

If 12% of an amount is 420 find the amount.

bdkbZ & IV  / Unit -IV

10- jksdM+ vigkj D;k gS \

What is cash discount ?

11- vk'oklh deh'ku ls D;k vk'k; gS \

What is meant by Del-credere commission ?
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12- ,d foØsrk dks ,d oLrq 120 :- esa cspus ij 25% ykHk gqvk rks Ø; ewY; Kkr dhft;sA

A seller gain 25% by selling an article for Rs. 120 find the purchase price.

bdkbZ & V  / Unit -V

13- C;kt dh ukeek= nj D;k gksrh gS \

What is nominal rate of interest ?

14- n  o"kZ ds fy;s r  pØof̀) C;kt nj ls feJ/ku Kkr djus dk lw= fyf[k,A

Write the formula to find the amount at r  compound interest rate for n  years.

15- la;ksfxd okf"kZdh D;k gS \

What is annuity contigent ?

[k.M & ^c*  Section - 'B'

y?kqmRrjh; iz'u ¼'kCn lhek 60 'kCn½

Short answer question (words limit 60 words) 5x6=30

lHkh iz'u gy dhft;sA

Attempt all questions.

bdkbZ & I  / Unit -I

16- izfrLFkkiu fof/k ls gy dhft;s %

3 2 5
5 3

x y
x y
 
 

Solve from method of substitution :

3 2 5
5 3

x y
x y
 
 

vFkok@OR
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y?kqxq.kd lkj.kh dh lgk;rk ls eku Kkr dhft;s %

Obtain the value using log tables :

7.2 8.3 0.94 

bdkbZ & II  / Unit -II

17- fuEu lehdj.k gy dhft;s %

Solve the following equation :

8 2 7 2 3 5
12 3 9 4 5 9

X    
    
   

vFkok@OR

lIrkg ds izFke rhu fnuksa dk vkSlr rkieku 27ºC gS rFkk vxys rhu fnuksa dk 29ºC gSA

;fn laiw.kZ lIrkg dk vkSlr rkieku 28.5ºC gks rks lIrkg ds vafre fnu dk rkieku

crkvksA

The average temperature per day for the first 3 days of a week is 27°C and that

for the next three days is 29°C. If the average temperature of the entire week is

28.5°. Calculate the temperature on the last day of the week.

bdkbZ & III  / Unit -III

18- v vkSj c dh okf"kZd vk; 4%3 ds vuqikr esa gS vkSj muds O;; dk vuqikr 3%2 gS ;fn

os nksuksa izR;sd 600 :- o"kZ ds var esa cpkrs gSa rks izR;sd dh okf"kZd vk; crkb;sA

The Income of A and B is in the ratio of 4:3 and their expenditure is in the ratio of

3:2. If they each save Rs. 600 at the end of a year, find the annual income of

each.
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vFkok@OR

fdlh ijh{kk ds fo|kfFkZ;ksa esa ls 
133 %
3  yM+fd;ka FkhA 60% yM+ds rFkk 50% yM+fd;ka

mRrh.kZ gqbZ vkSj 345 yM+fd;ka vuqRrh.kZ jgha A Kkr dhft;s fd fdrus yM+ds vuqRrh.kZ

jgs \

Of the candidates in an examination 
133 %
3  were girls. 60% of boys and 50% of

girls passed and 345 girls got plucked. Find how many boys failed ?

bdkbZ & IV  / Unit -IV

19- vt; dks m/kkj fcØh ij 6% rFkk uxn fcØh ij 7½% deh'ku fn;k tkrk gS A ;fn

75000 :- dh dqy fcØh ij mls 3600 :- fn, tkrs gSa rks udn o m/kkj fcØh dh jkf'k

Kkr dhft;sA

Ajay is paid commission of 6% on credit sales and 7½% on cash sales. It on a

total sales of Rs. 75000 he is paid Rs. 3600. Find the amount of cash and credit

sales.

vFkok@OR

,d O;kikjh lwph ewY; ij 10% NwV nsrk gSA blds ckn 3% udn vigkj nsrk gS A izfr

:i;s ykxr ewY; dks fdruk c<+k;k tk;s ftlls fd foØ; ewY; 10% ykHk gks \

A trader allows a discount of 10% on the list price. It further allows a cash discount

of 3% . How much price above the per rupee must it make to obtain a profit of

10% on selling price ?
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bdkbZ & V  / Unit -V

20- lqHkk"k vius eky ij nks ewY; vafdr djrk gS & ,d uxn Hkqxrku ds fy, vkSj nwljk

6 eghus m/kkj ds fy, A ;fn lk/kkj.k C;kt dh nj 5% gS rks nksuksa ewY;ksa ds chp D;k

vuqikr gksuk pkfg,A

Subhash marks his goods with two price - one for cash payment and others for 6

month's credit. What ratio should the two price bear to each other allowing 5%

simple interest.

vFkok@OR

,d O;fDr us 5% okf"kZd pØof̀) C;kt dh nj ls nks leku okf"kZd fd'rksa esa Hkqxrku

djus ds fy, 3280 :- m/kkj fy, A crkb;s izR;sd okf"kZd fd'r fdruh gksxh \

A man borrowed Rs. 3280@ 5% p.a. compound interest to pay in two equal

yearly instalments. What will be the every instalment ?

[k.M & ^l*  Section - 'C'

nh?kZmRrjh; iz'u&

Long answer question: 2x15=30

fuEukafdr esa ls fdUgh nks iz'uksa dks gy dhft;sA

Attempt any two questions from the following:-

 bdkbZ & I  / Unit -I

21- izfrLFkkiu fof/k }kjk gy dhft;s %

Solve by the method of substitution :



7 2 4 5 .............. (1)
2 7

2 6 8 2 ................(2)
8 5

x y

x y

 
 

 
 

bdkbZ & II  / Unit -II

22- ;fn 

1 0 2
0 2 3
1 2 3

A
 
   
  

 rFkk  

3 1 1
1 2 3
0 1 2

B
 
   
  

 gks rks 3 6A B  dk eku crkb;sA

If 

1 0 2
0 2 3
1 2 3

A
 
   
  

 and 

3 1 1
1 2 3
0 1 2

B
 
   
  

 find 3 6A B .

bdkbZ & III  / Unit -III

23- rhu nzO;ksa eas isVªksy rFkk fLizV Øe'k% 2%3] 3%4 rFkk 4%5 ds vuqikr esa feys gq, gSa A ,d

eksVj ekfyd 20 yhVj igys] 21 yhVj nwljs rFkk dqN yhVj rhljs nzO; esa feyk nsrk

gSA ;fn bl u;s feJ.k esa isVªksy rFkk fLizV dk vuqikr 29%39 gS rks rhljs nzO; esa ls fy,

x, yhVjksa dh la[;k Kkr dhft;s A

Three liquids contain petrol and spirit mined in the ratio of 2:3, 3:4 and 4:5

respectively. A meter owner mixes 20 litres of the first, 21 litres of the second and

a few litres of the third. If the ratio of the petrol to spirit in the mixture is 29:39 find

the number of the litres of the third liquid taken.

bdkbZ & IV  / Unit -IV

24- ,d O;fDr ,d ?kksM+k vkSj ,d xk; [kjhnrk gS] ;fn og ?kksM+s dks 10% gkfuij rFkk xk;

dks 20% ykHk ij csprk gS rks mls ykHk gksrk gS vkSj u gkfu] fdUrq ;fn og ?kksM+s dks

5% gkfu ij vkSj xk; dks 5% ykHk ij cpsrk gS rks mls 10 :- dh gkfu gksrh gSA og

izR;sd ds fy, fdruk ewY; pqdk;k gS \
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A man buys a horse and a cow. It he sales the horse at 10% loss and the cow at

20% gain he neither gains nor losses. But he sales horse at 5% loss and cow at

5% gain he losses Rs. 10. What does he pay for each ?

bdkbZ & V  / Unit -V

25- ;fn C;kt nj 5% okf"kZd gS rks fdruh jkf'k dk okf"kZd Hkqxrku 5 o"kksZ esa ns; 1620 :-

ds _.k dks pqdk nsxk \

What annual payment will discharge a debt of Rs. 1620 due in 5 years the rate of

interest being 4% p.a. ?
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